Which of These Do Not Belong?

(answer sheet)
In each group of numbers, three of the four numbers are divisible by the same

number. Circle the number that is different from the others.

divisible by 2 divisible by 7 divisible by 5
5 6 14 3 10 15
12 8 21 / 11 20
divisible by 9 divisible by 3 divisible by 11
45 9 9 12 11 33
13 27 3 10 22 23
divisible by 2 divisible by 5 divisible by 13
8 12 24 30 13 31
10 9 15 25 26 39
divisible by 3 divisible by 7 divisible by 9
24 33 30 42 54 32
25 21 28 35 36 27
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